PLUGGING I

Siep | — Plug in your own numbers for each variable. (Don't plug in 9, 1, or mimbers that appear in the question or the
anawer choices. ) Write down the numbers you plugged in for sach variable.

Step 2 — Solve the problem using your own nurabers. Write your answer down in the margin and circle it This is your
TARGET answer.

Step 3 — Plug your own nunibers into the answer cheices. Check all the choices. The one thas matches your TARGET
15 the answer.

8. Beth is two years older than Debbie and
four years younger than Marnie. 1t Debbie
is 4 years old, how old is Marnie in: terms

of d7

Ay 2d+2
By 2d+d
Cy  dez
‘o d4+ 4
3 d+0
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4.

¥ rioe cosis reents per kilograr, how
many kilograms tay be bought for $5.007

50
hy =
(B i

Id
55
oy 300
£ 500

i

I x+ 1 is an even integer, which of the

following must he an odd nteger?

(A)
(B)
(€
thy

{E)

x—1

o+l
i+l
2

EX

L%

x+ 4

# 6 more than v is two less than y, what is

the value of yin terms of <7

(A) x+2
(B) 1“%‘:’
© 3%
%) -"%E
By x+8

3.

113

14

If 2 and y are tategers and xy is an even
nteger, which of the follewing must be an
odd mteger?
(A} xy+ 5
{B) x+y
A
{C)
(T 4x

B Ty

Susan can stamp x leters per minute. How
maany leners can she stamp in 3 howrs?

{A) Jx
(B) kL HS
Ty el
(B 100x
(£ 180y

If d apoles cowt § cents, what is the cost, in

Ccents, of 4 apples at the same rate?

3n

(Al o
(BY Swm
Sd

© 5
Dy 54
R
{E} 5

Bifl is twice as old as Heidi and six years
younger than Mel. 1 Heidi 1s & vears old,
how old is Mel in tenms of #?

(A)
(B}
{C}
{D}
(E}

-4
A+ 4
Ih -3
2k
I+ 6
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B

13

If p. g, and r ave consecutive odd integers, 13.

andp <g < r, then in wems of £, =
(A] re=4d
By r-2
Cy r+2
oy red
B o=
(E) 5

If 4 mere than x 15 2 times v, what is the
value of ¥ in ferms of x7

B4,

Ay 2+ &

7

(B} 4+

3

x+2

(<
Dy 2(x-2)

(E} 2rx+d

It x 15 an odd number, what is the greatest i6

even number less than dy— 37

(A} x4 ]
(B x+6
(Y Zi4 4
{0 dr—4
() 4as2

Ha#0 anda = 2b = 3¢, what is the value
of ¢ + &in werms of o7

(A} ze
By Ze
(<)

(Ey o

The smaller of two integers, rand »+ 3, ig
muftiplied by 3 ard then subtracted from
the other mteger. Which of the following
represens this operation?

(A) (r+3)~3r

=3

r+3

L Gr+9%+r

(8

D r=Graeh

)
B =

I =t < x <4, which of the following has
the greatest value?

(A) x
B X
© -+
o L
) 14z

bisa, Eric, and Michelle buy a television.
Lisa pays half as much as Eric and twice a5
much as Michelle, If Bric pays x dollars, in
terms of x, how much docs the ralavision
cosL?

tA)

(8]
b e
>

7
(B} -
Ty 2x
{3 3x

(Ey Tz
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6.

7,

I2.

If a light bulb factory can produce 12 hight
bulbs in & manutes, then, in erms ol x, how
many Hght buibs can it produce in 2 howrs?

{AY 20120

(B) 12(60
312}
X

1266
o 22

(8]

X
e 2(12¥at)
A three-digit number has a hundreds digit
b, & tens digit zere, and a units digy o If
this number i divided by 10, the resukt is

B+
(A} 0
. F
iy h+r
7
(B 10k + T
By 10k +r

In he equation w = if the value of ws

’*v,1 ]

; .
mudiiplicd by 9 then the vadue of 2 18

multiphied by

1
(A) @

H
(B} 3
€ 2
oy 3
(B} 6

23

23.

If x— yis a muluple of 3, then which of
the following must aiso be a maltiple of 37

(Al y—x

)
(Cr —~

T x+y

The sum of two ¢onsecutive even inlegess
ig . What is the sum of the next tive
conseculive integers greater than a?

(A 3
8 n+ 3
{C} 2m+2
(0 2n+ 3

(Hy Im+ 4

a

it ?}: T what 15 the effect an the value

of @ when ¢ is halved and b is doublad?

(A} ¢ remaing unchanged.
(B« iz halved.

() s doubled,

(D1 a@is mulaphed by 4.
(Ey o iz multiplied by 8.
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2% The product of two positive numbers is £

If each of the numbers is increased by 2,
the new product 1s how much greater than
twice the sum of the two origimal numbers?

Ay k-2
By &k
A0y k+3
(D) k+4
{Ey 2Zk+4

Eight years ago, Syivia was 2 times as oid
a5 Adam will be in 3 years. If Adamis
years old now, how old iz Sylvia in erms
af a?

(A}

(Ej

Lari walks w miles a day 1o work at x
minutes per mile and walks back at a rate
of z minutes per mile, Whatis Lort's
average (arithmetic mean) rate in minutes
per mile per day?

(A} S

® 2
x+z

(Y {x -+ z) 2w
wlx 1)

0 2w

s Wy

l_E) E

24,

At the first stop onits route, a bus picks up
& passengers, At the secend slop, y

passengers gel on the Ems. At the third stop,
% of the passengers exit the hus, At the
fourth siop, 2 passengers get on the bus,

How many passengers is the bus carrying

at this point?

(A)

(B) %(}c +y=2)

Cy 2~ :ﬁ(.\:+ ¥)
rHu+a

(B 5

By x- E]H-Z

Pat had a dollars in the bank, She spent -

] wem

of her money ot a new ¢ar. Shie then
deposited £ dellars into the sams account
Later, Pat withdrew half of the Funds to
spend on her vacalion, How much money

is feft in Par’s bank account?

A

) b

©) Ta+bi-
® -
@ 2
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